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TVC(c,b,ch)=(1,5,3)

172125
" 3936+ 0.0
pL 0.001465 + 0.000198
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3850
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1
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—
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1
100
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TVC(e.b,ch)=(1,9,7)
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pL 0.001038 + 0.000189

-

1
100
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TVC(e.b.ch)=(1, 9, 11)
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pL 00005122+ 0.0001829

1
100
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TVC(e.b.ch)=(1, 9, 15)
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pL 00002649+ 0.0001853

1
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TP delay [ns]



TVC(c,b,ch)=( 1, 10,0) TVC(c,b,ch)=(1, 10, 1) TVC(c,b,ch)=( 1, 10, 2) TVC(c,b,ch)=( 1, 10, 3)

4375125 3029125 1229125 1209125
" 39402 0.0 u 3943+ 00 ™ 39341 0.0 " 3933+ 00
pL 0.0003963 + 0.0001915 oL 0.003264 + 0.000195 L pl 0001119 +0.000183 pL 0.000957 + 0.000190
3920~ - 3920 7
3900 - - 3900 - - 3900 -
3900 - -1 [ 1
3880 - 3880 -
- - <4
-
3850 - 3860 _— -—_ 3860
- -y I L b
1 1 3850 & 1 1 = 1 1 _L 1
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cb,ch)=(1, 10,4) TVC(cb.ch)=(1, 10,5) TVC(cb.ch)=(1, 10,6) TVC(c.b.ch)=(1, 10,7)

[28 -0.0001711+ 0.0001828 pL 0.002388 + 0.000184 I Pl 0.0006825 + 0.0001898 pL 0.000467 + 0.000180
3920 - =
i ] 3920
3900 E 3900~ T 3900 [ ]
[ ] 3900 |- -
3880~ -1
L 4 3880 1
- 3850 [ - 2860 i 1
n 1 - L ]
3850 i ] 3860 4
- -
r - £ -
1 1 1 1 1 1 1 1
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c.b.ch)=(1, 10, 8) TVC(c.b.ch)=(1, 10,9) TVC(c.b.ch)=( 1, 10, 10) TVC(c,b,ch)=( 1, 10, 11)

4327/25 266.6/25 1914125 - 1 na 0223125
= 3026+ 00 7 39244 0.0 ™ 3930+ 00 4000 . o 3928+ 0.0
3920~ Pl 0.0004253 + 0.0001847 3920~ Pl 0.003528 + 0.000193 r Pl 0.001346 + 0.000174 pl 0.00097 + 0.00018
3920
3000 - -1
3900~ 1 3900 - [
3900~ -1
2000 1
3880~ -1 I
3880 [ - 3880k .
1000 [~ = -
3860~ 4 3 C =-1030934.94 [ps/chi]
3860 |- - 3860 -
- 4 [ d
1 1 1 1 1 1 0, 1 1
0 50 100 50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(e,b,ch)=( 1, 10, 12) TVC(c,b,ch)=( 1, 10, 13) TVC(c,b,ch)=( 1, 10, 14) TVC(e.b,ch)=(1, 10, 15)

3940 43125 637125 ©9.43/25 11191725
™ 3037+ 0.0 T 3947+ 0.0 3940 (. g 3939+ 0.0 3940 " 39404 0.0
pL 0.000804 + 0.000194 3040 b pl 0.00225 + 0.00017 pL 00008253 + 0.0001713 pL 0.001574 + 0.000206

3920~ 7 3920 B 3920 B

3920 - L
3900 = - 3900~ - 39001 7
3880 - ssor ] 3880~ 7 sesor ]
E p | o
P B S S 1 P 1 P [C1:10) — R T RS S S | =
50 100 50 00 50 100 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b,ch)=(1, 11, 0) TVC(c,b,ch)=(1,11, 1) TVC(c,b,ch)=(1, 11, 2) TVC(c,b,ch)=(1, 11, 3)

2596125 3256125 1w8.2/25 04.82/25
" 39412 0.0 ¥ u 3943+ 00 3950 ™ 3951% 0.0 " 3947+ 0.0
pL 0.0007007 + 0.0002109 oL 0.003818 + 0.000188 | pl  0.001031+ 0.000185 3940 pl  0.001127 +0.000177
3920 1
3900 - -1
3900 - -1
3900~ =1
3900 -
3850 - - 38801 7
-
3850 [ - -
) ) o ) . . 3850 - ) ) = 3860 N . o
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b,ch)=(1, 11, 4) TVC(c.b.ch)=(1, 11, 5) TVC(c,b,ch)=(1, 11, 6) TVC(c,b,ch)=(1, 11, 7)

36.9/25 2388/25 93.78/25 1u9.2/25
3940 =
= seas= 00 ™ s833+ 00 F r ss38: 00 soaol = 3944200
38 0.0002431 + 0.0001895 p1 0.002617 + 0.000183 - Pl 0.0005925 + 0.0001824 pl  0.001197 +0.000198
3920 - 3 L e -
3920 =1
r 3920 -
3900~ - 3900 - - i
3900 =1
r 1 3900 -
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- 3850 - | L
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50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(e,b,ch)=(1, 11, 8) TVC(e.b.ch)=(1, 11, 9) TVC(e,b,ch)=(1, 11, 10) TVC(e,b,ch)=(1, 11, 11)

L 3933+ 0.0 4000 Ly 3928+ 0.0 L 3935+ 0.0 3940 o 3938+ 0.0
pL -0.0001574 + 0.0001871 pL 0.003008 + 0.000190 B Pl 0.0006408 + 0.0001869 pL 0.000936 + 0.000192
3920 - I
3000 B sozor ] 39201 ]
3900 - F
3900 |- - 3900 | 4
2000 = L
3880 [ -1 i
3880 -1 3880 - -
w00 C = -332393.52 [ps/ch] 7] 3 E
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) L™ . ) ) 3860 ) ) - 3860 [ N ) -
0 50 100 50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c.b.ch)=(1, 11, 12) TVC(c,bch)=( 1, 11, 13) TVC(c.b.ch)=(1, 11, 14) TVC(c.b,ch)=(1, 11, 15)

5125 su02125 897125 w3125
i 39312 0.0 ™ 3928+ 0.0 F ™ 39282 0.0 4000 p 3032+ 0.0
oL 0,0004344 + 00001902 3020 pl  0.00309 * 0.00017 3920 oL 0.001853 + 0.000175 Pl 00009955+ 00001725
3920 1 F 1
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) N T T PP T R E . o P PR T
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b,ch)=(1,12,0) TVC(c,b,ch)=(1, 12, 1) TVC(c,b,ch)=( 1, 12, 2) TVC(c,b,ch)=(1, 12, 3)
. . . . ot

6.85/25 245125 ©8.37/25 ALY 4144125
" 3909+ 0.0 ” 39124 00 " 3915 0.0 e 3913+ 0.0
3900 - pL 0.0005007 + 0.0001723 2000 p1 0.003578 £ 0.000186 [ L 0.001503 + 0.000186 pl  0.001311 + 0.000182
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TVC(c,b,ch)=( 1,12, 4) TVC(c,b,ch)=(1,12,5) TVC(c,b,ch)=( 1,12, 6) TVC(c,b,ch)=( 1,12, 7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c.b.ch)=(1, 12, 8) TVC(c,b.ch)=(1, 12,9) TVC(c,b,ch)=( 1, 12, 10)

TVC(c.b,ch)=(1, 12, 11)
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TVC(c,b,ch)=( 1, 13,0)
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1
50 100

TP delay [ns]

43.7125

o 3034+ 00
pl 0003111 + 0.000179

I I

1
50 100

TP delay [ns]

3920

3900

3880

3860

3840

3920

3900

3880

3860

3840

3920

3900

3880

3860

3920

3900

3880

3860

TVC(c,b,ch)=( 2, 11, 2)
.

5182125
i 39232 0.0
PL 00008956+ 00002113

1
50 100

TP delay [ns]

TVC(c,b,ch)=(2, 11, 6)

184.95/25
L 39252 00
L -0.0001696 + 0.0002087

’ PREFEET I BErRE SRR R TR R

1
50 100

TP delay [ns]

TVC(e,b,ch)=( 2, 11, 10)

855125
Ly 3922+ 00
pL  0.0008009+ 00001837

1
50 100

TP delay [ns]

TVC(c.b.ch)=(2, 11, 14)

663125
L 3933£ 00
pL 0.001299 + 0.000189

1
50 100

TP delay [ns]

3920

3900

3880

3860

3840

3920

3900

3880

3860

3840,

3920

3900

3880

3860

3840

3920

3900

3880

3860

TVC(c,b,ch)=(2, 11, 3)
.

1094125
" 3922+ 00
pL 0.001228 + 0.000174

1
100

TP delay [ns]

TVC(c,b.ch)=(2,11,7)

148/25
T 3920+ 00
Pl 7.991e05 = 2045004

1
100

TP delay [ns]

TVC(e,b,ch)=( 2, 11, 11)

1644125
L 3918+ 0.0
pL 00007207+ 0.0001772

1
100

TP delay [ns]

TVC(c.b,ch)=( 2, 11, 15)

002525
™ 3931+ 0.0
pL 0.001345 + 0.000180

1
100

TP delay [ns]



3900

3850

3950

3900

3920

3900

3880

3860

3940

3920

3900

3880

TVC(c,b,ch)=( 2, 12,0)

1213125
™ 39312 00
pL 00002088+ 00001961

1
50 100

TP delay [ns]

TVC(c,b,ch)=(2, 12, 4)

48.96/25
™ 39502 0.0
PL 00001062+ 00001821

1
50 100

TP delay [ns]

TVC(c.b.ch)=( 2, 12, 8)

$9.22/25
2y 39302 0.0
pL 5543605+ 1851604

1
50 100

TP delay [ns]

TVC(e,b,ch)=( 2, 12, 12)

1657125
e 3944+ 00
PL  0.0004083: 0.0002170

1
50 100

TP delay [ns]

3900

3850

3940

3920

3900

3880

3860

3920

3900

3880

3860

3940

3920

3900

3880

TVC(c,b,ch)=( 2, 12, 1)
.

5122125
" 3933+ 0.0
pL 0.002452 + 0.000190

sa o
TP delay [ns]

TVC(c,b,ch)=( 2, 12, 5)

580.7125
e 3947+ 0.0
pl  0.00287 + 0.00018

- % T
TP delay [ns]

TVC(c,b.ch)=(2, 12,9)

3417125
™ 3927+ 00
pL 0,003863 + 0.000183

1
100

TP delay [ns]

TVC(e.b,ch)=( 2, 12, 13)

5228125
™ 39424 00
pL 0.004714 + 0.000206

1
100

TP delay [ns]

3900

3850

3940

3920

3900

3880

3920

3900

3880

3860

3940

3920

3900

3880

TVC(c,b,ch)=( 2, 12, 2)
.

1649125
i 39392 0.0
p1 0001014 + 0.000184

TP delay [ns]

TVC(cb.ch)=(2, 12,6)

174125
L 39492 00
pL 00007799+ 00001969
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1
50 100

TP delay [ns]

TVC(c.b.ch)=( 2, 12, 10)

451925
Ly 3935+ 0.0
P 0,001064 + 0,000192

1
50 100

TP delay [ns]

TVC(eb,ch)=( 2, 12, 14)

228125
L 3945+ 0.0
pL 0.001398 + 0.000194

1
50 100
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3920

3900

3880

3860
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3940

3920

3900

3880

3920

3900

3880

3860

3940

3920

3900

3880

3860

TVC(c,b,ch)=( 2, 12, 3)
.

6347125
" 3938+ 0.0
pL 0.001252 + 0.000195

TP delay [ns]

TVC(c,b,ch)=(2, 12, 7)

59.56/ 25
o 3960+ 0.0
pl 0001143 +0.000193

1
50 100

TP delay [ns]

TVC(c.b,ch)=(2, 12, 11)

5100125
L 3934+ 00
pL 00009743+ 0.0002018

1
50 100
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TVC(c,b,ch)=( 2, 12, 15)

I 133125
p 3038+ 0.0
pl  0.001131 + 0.000200
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3900

3850
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3900

3880
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TVC(c,b,ch)=( 2, 13,0)
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™ 3940% 0.0
L 0.0004455+ 00002061
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TVC(c,b,ch)=(2, 13, 4)

4235125
2y 3946 0.0
L -0.0003106 + 00001892

- C =3219911.13 [ps/ch] 1

1
50 100
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TVC(c.b.ch)=(2, 13,8)

2185125
2y 39282 0.0
- pL 00005672+ 00001944

1
50 100

TP delay [ns]

TVC(e,b,ch)=( 2, 13, 12)

pe e

2769125
3922+ 00
pL  0.0001499+ 0.0001790
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TVC(c,b,ch)=( 2, 13, 1)
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s 443.6/25
o 3947+ 0.0
pl  0.003476 + 0.000191

5:, o
TP delay [ns]

TVC(c,b,ch)=( 2, 13,5)

3339125
o 3945+ 0.0
pl  0.002951+ 0.000186

- C = -338828.31 [ps/ch]

1
50 100

TP delay [ns]

TVC(c.b.ch)=(2, 13,9)

2499125
™ 3934+ 00
oL 0.003717 + 0.000192

1
50 100

TP delay [ns]

TVC(c.b,ch)=( 2, 13, 13)

$516/25
™ 3926+ 0.0
- pL 0.003346 + 0.000200

-
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TVC(c,b,ch)=( 2, 13, 2)

pl  0.001018 + 0.000181

2125125
™ 3944£0.0

1
50 100
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TVC(cb.ch)=(2, 13,6)

1003125
Ly 39502 0.0
PL 00009582+ 00001896

- C =-1043622.56 [ps/chi]

1
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TVC(c.b.ch)=(2, 13, 10)
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™ 3035+ 00
pL 0001664+ 0.000176
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L 3929+ 00
PL  0.0008653: 0.0001739
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TVC(c,b,ch)=( 2, 13, 3)
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1071125
" 3941+ 00
pL 0.001038 + 0.000180

TP delay [ns]

TVC(c,b,ch)=( 2, 13, 7)

w7.7/25
o 3945+ 0.0
pl  0.00112+0.00019

- C = -893035.83 [ps/ch]
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TVC(c,b,ch)=( 2, 13, 11)

-1 N v5.51/25
o 3928+ 0.0
- pl 0001861+ 0.000190
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TVC(c.b,ch)=( 2, 13, 15)

1289125
™ 39274 00
L pL  0.0002143% 0.0001917

P B
50 100

TP delay [ns]



TVC(c,b,ch)=( 2, 14,0)

3900~

3850~

5151125
™ 3909+ 0.0
L -0.0003037 + 00002001

1
100

TP delay [ns]

TVC(cb.ch)=(2, 14,4)

3900 |~

3850~

99.96 /25
™ 30112 00
pL -0.0002679 + 00001863

1
100
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TVC(c.b.ch)=(2, 14,8)

3920

3900 |~

3880

3860~

5322/25
" 3928+ 00
PL 00002522 + 0.0001836
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1
100
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TVC(c.b,ch)=(2, 14, 12)

3900 |~

3880

3860~

38401

2194125
™ 3015+ 00
pL  0.0007105: 0.0001844

1
100
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TVC(c,b,ch)=( 2, 14, 1)
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S 226125
o 3909 0.0
3900 I~ pl  0.002503 + 0.000181
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1 1 n
50 100
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TVC(c,b,ch)=(2,14,5)
. Pl o1
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3850 - -
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3840 = 1 1
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TVC(c,b,ch)=( 2, 14, 2)
.

1086125
i 3906+ 0.0
p1 0.000603 + 0.000192

1
50 100

TP delay [ns]

TVC(cb.ch)=(2, 14,6)

98.46 /25
L 39212 00
PL 00005784+ 00001794
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1
50 100
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> ss31s 00
r Pl 0.000153 + 0.000195
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I |
1 1
0 50 100
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. e o
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3860
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TVC(c,b,ch)=( 2, 14, 3)
.

101.7/25
" 3909+ 0.0
pL 0.000405 + 0.000187

1
100

TP delay [ns]

TVC(cb.ch)=(2, 14,7)

63.26/25
L 3921+ 00
pL 00006997+ 0.0001897

1
100

TP delay [ns]

TVC(c.b,ch)=( 2, 14, 11)

1101725
L 3930+ 0.0
Pl 00002845+ 0.0001768

1
100
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TVC(c,b,ch)=( 2, 14, 15)
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o 3907+ 0.0
pl  0.001601+ 0.000172
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100
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3880
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3900

3880
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3880

3860

TVC(c,b,ch)=( 2, 15,0)

5169125
™ 3920 0.0
PL 00004635+ 00001844

TVC(c,b,ch)=( 2, 15, 4)

1
50 100

TP delay [ns]

422125

™ 3916+ 0.0
Pl -4.19e-05+ 2.00e-04

1
50 100

TP delay [ns]

TVC(c.b,ch)=(2, 15, 8)

4966125
2y 39232 00
PL  0.0004889+ 00001838

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 2, 15, 12)

2661125
™ 3924+ 00
pL 0.000976 + 0.000177

1
50 100
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3880
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3880

3860
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3900

3880

3860

TVC(c,b,ch)=( 2, 15, 1)
.

852125
" 3930+ 0.0
pL 0.002802 + 0.000178

56 1&0
TP delay [ns]

TVC(cb.ch)=(2, 15,5)

2521125
v 3916+ 00
b1 0,002475 + 0.000195

% T
TP delay [ns]

TVC(c.b.ch)=(2, 15,9)

2956125
™ 3926+ 00
pL 0,003535 + 0.000180

1
100

TP delay [ns]

TVC(c.b,ch)=( 2, 15, 13)

1438125
™ 3919+ 00
pL 0.003722 + 0.000215

1
100

TP delay [ns]
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3880

3860
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3900

3880

3860

TVC(c,b,ch)=( 2, 15, 2)
.

1391125
i 39312 00
p1 0.001054 + 0.000186

TP delay [ns]

TVC(cb.ch)=(2, 15,6)

60.88/25
Ly 39212 00
Pl 00003476+ 00001853

1
50 100

TP delay [ns]

TVC(c.b.ch)=(2, 15, 10)

1032125
Ly 3932+ 00
P 0,001417 + 0,000189

o

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 2, 15, 14)

103125
L 3925+ 0.0
pL 0.001097 + 0.000197

1
50 100
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3900

3880

3860
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3840
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3900

3880

3860
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3900

3880

3860

TVC(c,b,ch)=( 2, 15, 3)
.

114925
" 3925+ 0.0
pL 00007106+ 0.0001779

1
100

TP delay [ns]

TVC(cb.ch)=(2, 15,7)

§7.03125
L 3925+ 00
pL 00006585+ 0.0001848

se T
TP delay [ns]

TVC(c.b,ch)=( 2, 15, 11)

105/25
L 3929+ 0.0
pL 00009058+ 0.0001781

1
100

TP delay [ns]

TVC(c.b,ch)=( 2, 15, 15)

46.94125
™ 3928+ 0.0
pL 0.001369 + 0.000173

1
100

TP delay [ns]



TVC(c,b,ch)=(3,0,0)

3900

3850

$9.42/25
™ 3926+ 0.0
PL 00005498+ 00001769

% ]
TP delay [ns]

TVC(c,b,ch)=(3, 0, 4)

3900

3850

38.05/25
o) 3935+ 0.0
pL  0.000971% 0.000195

1
100

TP delay [ns]

TVC(c.b,ch)=(3,0,8)

3900

3880

3860

3840

4L01/25
2y 3900% 0.0
pL 00005646+ 00001806

3820L

1
100

TP delay [ns]

TVC(c,b,ch)=(3, 0, 12)

3940 |

3920

3900~

3880

3860,

$0.11/25
™ 3939+ 00
PL  0.0001189: 00002051

-y

1
100

TP delay [ns]

TVC(c,b,ch)=(3,0,1)

fereyrs
3900 -
3850 - -
3800 Sg) 10‘0
TP delay [ns]
TVC(c,b,ch)=(3,0,5)
! i
b ooosarss ooooiss
3900 1
3850 - -1
1 1 n
50 100
TP delay [ns]
TVC(c,b,ch)=(3,0,9)
. Py
m s008: 00
o oouss oot
3900 |-
3880 =1
3860 - -1
3840 =
1 1
50 100
TP delay [ns]

TVC(e.b,ch)=(3, 0, 13)

3940 by
m a9354 00
3920 -
3900 - -
3880 -
3860 - -1
-y
M I M B
50 100
TP delay [ns]

TVC(c,b,ch)=(3, 0, 2)

3900~

3850 |~

3920

3900

3880

3860

3900

3880

3860

3840

3940

3920

3900

3880

3860

5149125
i 3922+ 0.0
pL 00006098+ 00001892

TP delay [ns]

TVC(e,b,ch)=(3, 0, 6)

523125
o 39332 00
p1 0.001634 + 0,000182

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 0, 10)

- 1 nan 1131/25
o 3902+ 0.0
pl 000153+ 0.00019

o

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 0, 14)

1303125
L 3940+ 0.0
PL  0.0005424% 0.0002034
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1
50 100
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3920

3900

3880

3860
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3840

3920

3900

3880

3860

TVC(c,b,ch)=(3, 0, 3)
T K

- ©06.8/25
o 3915+ 0.0
pl  0.00105 +0.00019

1
50 100
TP delay [ns]

TVC(e.b,ch)=(3,0,7)

60.15/25
™ 3936+ 0.0
pL 0.001809 + 0.000186

=g

1
100

TP delay [ns]

TVC(c,b,ch)=(3, 0,11 )

1016/25
L 3903+ 0.0
Pt 0.001383 + 0.000178

1
100

TP delay [ns]

TVC(e.b.ch)=(3, 0, 15)

822125
™ 3933+ 0.0
pL 0.001276 + 0.000186

=y

1
100

TP delay [ns]



TVC(c,b,ch)=(3, 1,0)

prrs
3900~ 1
3850~ -1
-
1 1 .
50 100
TP delay [ns]
TVC(c,b,ch)=(3,1,4)
! e
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b1 0000847 00001620
3900 - -
3880 1
3860 -
-
3840 -
1 1 3
50 100
TP delay [ns]
TVC(c,b,ch)=(3,1,8)
3900 1y 39012 0.0
Pl 0.0004748 + 0.0001819
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3840 1
-
1 1
0 50 100

TP delay [ns]

TVC(eb,ch)=(3, 1,12)

3920

3900~

3880

3860 -

2414125
™ 3921+ 00
PL  0.0008745: 0.0001819

1
100

TP delay [ns]

3900

3850

3900
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3900

3880

3860

3840

3820

3920

3900

3880

3860

3840

TVC(c,b,ch)=(3,1,1)

2068125
" 3920+ 0.0
pL 0.003737 + 0.000189

sa o
TP delay [ns]

TVC(e.b,ch)=(3, 1,5)

1229125
v 3923+ 00
b1 0.007367 + 0.000192

% T
TP delay [ns]

TVC(c,b,ch)=(3, 1,9)

1332125
™ 3899+ 0.0
pl 0005334 + 0000181

1
100

TP delay [ns]

TVC(e.b.ch)=(3, 1,13)

2953125
™ 39174 00
pL 0.005102 + 0.000196

-

1
100

TP delay [ns]

TVC(c,b,ch)=(3, 1,2)

3900~

3850

3920

3900

3880

3860

3840
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3840

3820

3900

3880

3860

3840

1245125
i 3916+ 00
p1 0.001006 + 0.000168

1
100

TP delay [ns]

TVC(e,b,ch)=(3, 1,6)

3445125
Ly 39242 00
PL 00005432+ 00002001

1
100

TP delay [ns]

TVC(c.b.ch)=(3, 1, 10)

29.44125
Ly 3894+ 0.0
L -0.0004355 + 00001932

o

1
100

TP delay [ns]

TVC(c,b,ch)=(3, 1, 14)

165125
L 3914+ 00
pL 0.001579 + 0.000186
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3900

3880
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TVC(c,b,ch)=(3, 1, 3)

1321125
" 3921+ 00
pL 0.001477 + 0.000180

1
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TP delay [ns]

TVC(e.b,ch)=(3, 1, 7)

4486125
Ly 3916+ 0.0
pL 0.001687 + 0.000189

1
100

TP delay [ns]

TVC(c,b,ch)=(3, i1 )

£0.04/25
L 3895+ 0.0
pL 0,001038 + 0.000183

1
100

TP delay [ns]

TVC(c,b,ch)=(3, 1, 15)

- 49.95/25
o 3927400
pl 0.001799 £ 0.000171
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100

TP delay [ns]
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TVC(cb.ch)=(3,2,9)
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1
100
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100
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TVC(c,b.ch)=(6, 15,5)

5928/25
v 3941% 00
b1 0,004934 + 0.000187

1
100
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TVC(c,b,ch)=( 6, 15, 9)

-1 Nl 5113125
o 3969+ 0.0
pl  0.00465 +0.00019
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TVC(c.b,ch)=(6, 15, 13)
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™ 4002+ 0.0
pL 0.003714 + 0.000180
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3850
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.

1621125
i 3920+ 0.0
p1 0001918 + 0.000188

1
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TVC(c.b.ch)=(6, 15,6)

1301125
Ly 39412 00
p1 0.001913 + 0.000200

1
100

TP delay [ns]

TVC(c.b.ch)=(6, 15, 10)

1642125
Ly 3976+ 0.0
P 0.001808 + 0.000173

1
100

TP delay [ns]

TVC(c,b,ch)=(6, 15, 14)

1575125
L 4002+ 0.0
PL  0.0008889: 0.0001830
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3940
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3940

3920
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4000
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1
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3850
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3880

3860

TVC(c,b,ch)=(7,0,0)

2523125
™ 3928+ 0.0
PL 00004808+ 00001975
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TVC(c,b,ch)=(7,0,4)

43.28/25
o) 3926+ 0.0
pl  0.001092:+ 0.000181

1
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TVC(c,b,ch)=(7,0,8)
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o 3940+ 0.0
pl 0001168 +0.000220

1
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$6.07/25
™ 3938+ 00
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1
50 100

TP delay [ns]
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1
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™ 3933+ 0.0
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3900

3850

3950
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3940
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3880

3940

3920
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3880

TVC(c,b,ch)=(7,1,0)
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0,0004081:+ 0.0002018
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0,0007307 + 0.0002005
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TVC(c,b,ch)=(7, 1,12)
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754125
Ly 3966+ 0.0
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" 3930+ 0.0
pL 0.001918 + 0.000180
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TVC(c,b,ch)=(7,2,7)

54.47/25
o 3923+ 0.0
pl  0.001695 + 0.000181
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TVC(e.b,ch)=(7, 2, 11)

5184125
L 3928+ 00
pL 0.001319 + 0.000182
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TVC(e.b.ch)=(7, 2, 15)
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pL  0.0009889: 0.0001751
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pL 0.005529 + 0.000176
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pL 0.001824 + 0.000189

1
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TVC(e.b,ch)=(7,3,7)

1048125
L 3911+ 00
pL 0.001656 + 0.000189

1
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TVC(e.b,ch)=(7, 3, 11)
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L 3914+ 00
pL 0.001956 + 0.000175
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PL  0.0004077+ 00001860

1
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TVC(c,b,ch)=(7,4,4)

41.96/25
™ 39412 0.0
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1
50 100
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TVC(c.b,ch)=(7,4,8)
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2y 39342 00
PL  0.0008265+ 00001808

1
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pL 0.003655 + 0.000193
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TVC(e.b,ch)=(7,4,5)
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v 3940+ 00
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TVC(e.b,ch)=(7,4,7)
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L 3936+ 0.0
pL 0.000916 + 0.000187

1
100
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TVC(c.b,ch)=(7, 4, 11)

234125
L 3934+ 00
pL 0,001326 + 0.000170

1
100
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TVC(c,b,ch)=(7, 4, 15)
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™ 3923+ 0.0
pL 0.001487 + 0.000186
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